YUF—42

" aRaYsrT BT A

uamsﬁmmma%aﬁwwﬁsﬁa}ﬁﬁgiﬁm
NRAR—-GACSI-Heg@rd dlex drf & fHhodo 15@?@116?1‘%@9‘@16

fBoHo (15,675 feoHo)d =@ Frafor ¥ o= T TR Y19 |

afiRx® gERYY o adfy dremr

JERIYY RIS BT ATH: qugm'q -

qus §

JERIYT B &=l — 9.887 R0

§A RaTorT o &g s 4fy 31 S

STRITUT 2q SN seRIfYT
T afiRe® g E,QL '

: g
ﬁmrﬂ:.«m ool
e L LR

st v o

= 199274 X 230302
3
{ L9 Ylg 21/2’«4/))

Qg

Rs.= 4553991.748
a1 Rs.= 4553992 ¢v

.. BTH BT 919 T SHIS g% ufr ETRTRT
1 2 3 4 5 6
1. | QAT 1 |0 120 20 120
2. &S BT BT (SIS heTT 3fR) 1 80 1578 20 1578
3. I ATET BT g 16 o 551 o 8704
4. N ) S (T ay) 2000 bt T 5,88 <0 11860
5. ITSST TEETH (0.30 x0 .30 x0 .45) 2000 %o 7.4 TS 14800
6. BRI=T AT 1 80 291 =0 291
7 wed ATA—<ETST BT AHfor ue 1 B0 9150 21 9150
T AMTIRF wEaT dg wrfdens
- AWT:— F2/H =T 46503
} fa<ha gvor
N 1. STSET URTH_h1RT (0.30 x0 .30 x0 .45) 2000 e 1.30 BT 2600
2. et o e GRRE g ol 2000 er 1.05 er 2100
bT 25U
<3 YT AT bRy 2000 arer 6.50 qrer 13000
4. GEIRIYOT o eieTa~<sy - 2000 grer 2.74 orer 5480
5. g g g \wfeasr (2@ 9r) 2000 BT 3.09 e 6180
6. XETE d 97 U o3 2000 Tee 21.00 NEE 42000
7. WA W i e 1 20 9183 2o 9183
o REERENT YR RTT
8.1 QEIRITUT &3t & It v
|, W Ud SaorHaNer gareit By <) 20 267 20 267
s<T=ET ufar |80
:ﬁi gﬂemm by s 1 o 2771 20 2771
8.3 GERIIUT F Snfag S arer
s U BT I GRaEm SIRTeaar
) vq UfRmEror aermr it gRamw W
SeeteEr g wrf &g
<TfFaadt /afffaay o1 grearsa
T
31 — yfdrayor 1 20 S77 20 577
9 — YIS 1 20 289 20 289
A — YIS 1 20 485 B0 485
I WA IR ArS, 9 g
B/ SIHN, gaeh, a1 Y wme
FETRITUT & [THA a6t A T=@T v
9. arefeN=T ¥Wie T a¥ F a7 A 1 |80 1327 20 1327
BT JIR—UHAR Qd SRS =
3 B |
IJreT gdha aver 86259
YU B 9Ta uaqH_ guf
5. . HTA BT ATH T SHIS % wfr STERTIRT
;. R T 1 ‘80 9754 20 9754
o AT _agef axer 9754
XI9°T B 91 fadia_ast 9 a9 ast
1. RS CIC] 1x9 B8 9754 2o 87786
T ] 87786
: B AT L 230,302.0
W JERIYYT B TG KT &g ufey 2o = 230302 20 wq & A S, wgd
=9.887 0 x 2 =19.774 %0 |




